| Efficiency vs Dxy |
0.1

B 0,00
< A T T
R e
o A T T
Q 0.07 it
T
008

dxy

eff

T
e T T

s o o o o

oot ot

L

Ratio

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT_original_lowpt
| Efficiency vs Dz | —— DQM_TT _newbranch_lowpt_pLess

0.5 —— DQM_TT_newbranch_lowpt_pLessMVACand

377 SN NN RS S S —

dz

a‘ E . . . . .
o e S S S

@] C : : : . .
E0.35 P P rorneree AR

o - : : : : :
0.3
s s T e
02
0_152_ _________ S S S - + ___________
T F TEATEIS IS SRS SO

OO T S N S

*

3020 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


